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ENGLISH VERSION

(@) A firm manufactured and sold 1,000 typewriters in the year 14

2020-21. Its summarized Trading and Profit and Loss Account

for the year 2020-21 is set out below:

Particulars Rs. | Particulars Rs.
To Cost of Materials 1,60,000 | By Sales 8,00,000
To Direct Wages 2,40,000
To Manufacturing charges | 1,00,000
To Gross Profit c/d 3,00,000
8,00,000 8,00,000
To Management and By Gross Profit b/d| 3,00,000
Staff Salary 1,20,000
To Rent, Rates and
I[nsurance 20,000
To Gen. Expenses 40,000
To Seiling Exps. 60,000
To Net Profit 60,000
3,00,000 - 1 3,00,000
For the year 2021-22, it 1s estimated that : |
(1) The output and sales will be of 1,200 typewriters.
(2) Price of materials will rise by 20%.
(3) Wages rates will rise by 5%.
8 [ Contd...
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(4) Manufacturing charges will increase in proportion to the

(3)
(6)

combined cost of materials and wages.

Selling expenses per unit will remain unchanged.

Other expenses per unit will unaffected by the rise in output.

Prepare a statement showing the price at which typewriters to be

manufactured in 2021-22 should be marketed so as to show a

profit of 10% on selling price.

(a)

(1)

(if)

OR
Write a note on how the Work in Progress is shown
in the cost sheet.
Write a note on how the Finished Goods is shown in 7

the cost sheet.

(b) Answer the following multiple choice questions :

AJ-2222 ]

(1)

(2)

(3)

Legal Expenses are shown in cost sheet as:
(A) Factory Expenses (B) Direct Expenses
(C) Office Expenses (D) Distribution Expenses

From the following which item is not shown in cost

sheet ?
(A) Materials (B) Carriage Outward
(C) Salary (D) Dividend paid

[n Cost Sheet, Donation is shown as :
(A) Factory Overheads

(B) Administrative Overheads

(C) Distribution Overheads

(D) None of the above
’ [ Contq...



(4) Cost of sales 18 Rs.
Ry, 40.000. State (he percentage ol pmﬁi on sales.
(A) 1% (B3) 10%
() 12% (D) 9%

5 (a) 'The following is the ‘Trading and Profit and 1oss Account 14
of Geeta Manufacturing Co. of the year ended 31-3-2021.
particulars | Rs] partientars | R
To Materials 2.91,500|By Sales 7,50,000

T'o Production Wages | 1,86, 100 [By Closing stock
To Works Expenses 1,40,550| of finished goods 18,125~
To Gross Profit 2.05,275 | By work in progress stock:
Materials 28,000
Wages 15,600
Work expenses 11,700 55,300
8,23,425 8,23,425
To Administration By Gross Profit 2.,05,275
Fxpenses 1,36,500
To Net Profit 68,775
o l')uringjl;(r:;tr:;:l g:‘;(')—(}—unils were manulactured. ()ut(_); which i
15.000 units have been sold. The costing records show that
works expenses worked out at Rs. 8.25 per unit and
administrative expenses at Rs. 9 per unit. The costing books
show a net profit of Rs. 71,250. )
As per above information prepare cost sheet and
statement reconciling the profits as shown by two sets accounts.
AdJ-2229 | ?OR
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(a)

(b)

AJ-2222 ]

(i)

(ii)

Write short note on Reconciliation of Cost and

Financial Accounts.

Write short note on Over Recovery and Under Recovery

of overheads.

Answer the following multiple choice questions :

(1)

(2)

3)

Which of the following items is not recorded in financial

accounts ?

(A) Interest on Capital

(B) Profit on sale of Investment

(C) Donations

(D) Imputed factory rent

Goodwill written off is recorded only in :
(A) Cost Accounts

(B) .Financial Accounts

(C) Financial A/c and Cost A/c.

(D) None of these

Which income is recorded in cost accounts also”
(A) Rent Income

(B) Interest Income

(C) Income from scrap selling

(D) Dividend Income

11
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3 (a) Jay Travels owns a bus which runs between Jamnagar and 14
Dhrangadhra for 8 days in a month. The distance from
Jamnagar to Dhrangadhra is 184 kms. The bus completes trip
from Jamnagar to Dhrangadhra and back in the same day. The
bus goes another 12 days in a month from Jamnagar to
Junagadh. The distance from Jamnagar to Junagadh is 110
kms. The bus completes trip from Jamnagar to Junagadh and
back in the same day. For 5 days of month bus runs in the
local city. Daily distance covered in local city is 60 kms.
Other details are as follows :

(1) Cost of bus Rs. 8,00,000.

(2) Scrap value at the end of 10 years Rs. 80,000.

(3) Monthly salary of driver Rs. 3,000.

(4) Monthly salary of conductor Rs. 2,000.

(5) Monthly staff salary Rs. 3,000.

(6) Yearly Insurance Premium Rs. 12,000

(7) Consumption of Diesel 5 kms per litre, rate per litre
Rs. 11

(8) Monthly Road Tax Rs. 9,600.

(9) Oil per 100 kms Rs. 80.

(10) Cost of Tyre, Repairs and sundry exp. per month
Rs. 9,633.

(11) Capacity of bus : 50 passengers.

The bus occupied by 80% of its capacity when it goes to

Dhrangadhra and is occupied by 90% of its capacity when it

goes 1o Junagadh. It is always full when it runs within the

city. What rate per km. should be charged for rent from

o g l 0
passengers if Jay Travel wants to earn 33=% profits on
3

cost ?

AJ-2222 ] -2 [ Contd...



(a)

(b)
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(1)

(i) Write short note on Hospital Costing. 7
Answer the following multiple choice Questions : 4
(1) Which of the following is not included in Operating
Industry ?
(A) Hospital (B) Hotels
(C) Bus (D) Oil Refineries
(2) Which of the foilowing items is considered a fixed
costs from the viewpoint of a transport undertaking ?
(A) Petrol - (B) License fees
(F) Lubricating Oil. (D) Depreciation
(3) Which of the following cost unit is adopted by Goods
Transport Co. ?
(A) Per ton (B) Per trip
(C) "per ton km . (D) per km
(4) Which of the following is not variable expenses for
operating costing
(A) Depreciation
(B) Diesel
(C) Repairs and Maintenance
(D) Insurance Premium
13 [ Contd.
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4 (a)
(a)
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- C ‘)l
e _ L contract ¢

Babita Construction Company undertook a ¢
¢ under :

14

Rs. 22.00.000 on 1-10-20. The information 15 @ R

Partieatars 020t 306211721 10 S
(Actual Exp.) (Esﬁmatcd EAD-)

wey| B

11'1atc1~i;1]g T "7)3’:0'0(7 1.60.000
Labour 5.50.000 45.000
Outstanding Labour _ 25.000 )
Plant Purchased 2.40.000 -
Administrative Exp. 1.45.000 55,000

Material returned

to Stores 10,000 -
Material on hand 75.000 -
Work Certified 18,70.,000 Completed
Cash Received | 17.00,000 22.,00.000
Work Uncertified ' 80,000 -

The plant worth Rs. 60,000 was returned to stores on
30-6-21. Calculate 12% depreciation on original price of

plant. Contract will be cbmpleted on 31-12-21.

Profit for the ended 30-6-21 is to be calculated on the basis

of estimated profit and work certified. You are request to

prepare:
(1) Contract Account for the year ended 30-6-21
(2) Proforma Contract A/c.

OR
i <xplain the disadvantaces of .
(i) Exp ¢ antages of Job ( osling,

ii) [xplain the characteristics of oSt
(ii) p ol Job (ostmg.
14 }

7
7
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(b)  Answer the following multiple choice questions :

(1)

(2)

3)

In Pharmaceutical business which costing method is

used ?
(A) Contract costing  (B) Job Costing
(C) Unit Costing (D). Batch Costing

The time limit for every job is :

(A) Annual (B) Half Yearly

(C) Uniform (D) Different

Profit of a contract credited to P&L A/c. is Rs. 3,60,000.
This amount is calculated on the basis of 2/3 of 80%

cash receipt. Find out total profit of the contract.
(A) Rs. 6,75,000 (B) Rs. 2,40.000

(C) Rs. 1,40,000 (D) Rs. 3.40,000




{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

